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Part-A (Physics)

estion

No Questions
1.

Four bulbs marked 40 W, 250 V are connected in series with 250 V mains,

the total power consumed is
1) 10W | @ 40W
3) 320W 4 160W

The resistance of an ideal voltmeter is

(1) zero : - (2) infinite
3) >1kQ ‘ @ >1Q

A dip needle in a plane perpendicular to magnetic meridian will be
(1) Vertical

@) quizontal ‘

(3) at an angle 45° to the horizontal

(4) at an angle of dip to the horizontal .

A power line lies aldng the east west direction and carries a current of

10 ampere. The forée; ﬂf)‘er metre due to earth’s magnetic field.of 10 T is

AN - @) 10*N
@) 10SN . @ 10°N

The maximum energy of a deutron coming out of a cyclotron accelerator is

| 20 MeV. The maximum energy of protons that can be obtained is

(1) 10MeV (2) 20MeV
3) 30MeV ' (4) 40 MeV

| BPH-EE-2013-Code-C (1)
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Question
No.

6. | The magnitude of electric field strength E such that an electron placed in

Questions

it wenld experience an electric force equal to its weight is given by

® mge & =
s o e'g
OF - g , 3 o

7. | The electric potential at the surface of an atomic nucleus (z=50) of radius

9 Fermi is
(1) 8oVolt @) 8x10°
@) 9V e (4) 9x10°V

8. | A chérge Q is distributed uniformly in a sphei'e (solid). Then the electric
ﬁeld- at'any point r where r < R R is radius of- sphere) varies as

1T R R R ¢

@ r (4 r?

9. | Ata poiht on the axis of an electric dipole ;
(1) The electric field E is zero

(2) The electric ~potential V is zero

(8) Neither E nor V is zero

(4) Both E and V are zero

10. | The quantity in electricity analogous to température is
(1) inductance - (2) charge

(3) resistance (4) potential

BPH-EE-2013-Code-C (2)




Code-C

uestion 3
No. | | - Questions |
11. | The period of oscillations of a mass 1.6 kg suspended from a spring is

2 seconds. If along with it another mass m kg is also suspended, the period
of oscillations increases by one second. The mass m is &

12)

(1) 1kg 2 2kg (3 1.6kg (4 2.6kg
Two coherent sources must have the same
(1) Amplitude (2) Phase difference only
(3) Frequency only (4) Phase difference and frequency

13.

When a source is going away from a stationary observer with a velocity
equal to that of sound in air, the frequency heard by observer will be

14.

(1) Same » (2) Double

(3) Half i _ (4) One third
Ultrasonic waves are produced by

(1). Piezoelectric effect - - (2) Pettiro’s effect
(3) Dopplers effect @) Nonepf these

15.

Fundamental frequency of a sonometer wire isn. If the length',' tension and
diameter of the wire are tripled, the new fundamental frequency is

m 7 @ 3
® b @ 75

16.

A ball is dropped from the fop of a tower of height h, it covers a distance

h/2 in the last second of its motion. How long the ball remains in air ? Take

g = 10ms2 : -
(1) 2442 sec : () 2sec
@) 2 sec e gy 2% sec

' BPH-EE-2013-Code_C (3)
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No. Questions | |
17. | Twoparticles are projected simultaneously in the same vertical plane, from

the same point, both with different speeds and at different angles wit

horizontal. The path followed by one, as seen by the other, is
(1) avertical line- » |

(2) aparabola

(3) ahyperbola

‘(4) a straight making a constant angle (# 90°) with the horizontal

18.

A bullet fired into a target loses half its velocity after penetrating 25 cm

How much further will it penetrate before coming to rest ?

1 J26cm (2) 25cm.
3) 8.3 cm. (4 T75cm.

19.

A small ball describes a horizontal circle on the smooth inner surface of a
conical fﬁnnel. If the height of the plane of the circle above the vertek be
10 cm; v;rhat is the speed of the particle ? |

(1) 2m/s (2) 4m/s

3) 16m/s : (ii) 1m/s

20.

A body is projected vertically upwards from the surface of a planet of
radius R with a velocity equal to half the escape velocity of the planet. The
maximum height attained by the body is

W By @ B

|® B4 @ B,
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uestion

No. = | Questmns
~ 21. | Under the action of a force F = Cx, the position of a body changes from 0 to
x. The work done is 7
(1) % Cx? @ Ccx
@ Cx @ %Cx
22. | The angle turned by a body undergoing circular motion depends on time as|
0= 66 +6,t + 6, t%. Then the angular acceleration of the body is
(). 9 v @,
8 28, ' 4) 26,
23. | A rocket of mass 1000 kg exhaust gases at a rate of 4kg/s with a velocity
3000 m/s. The thrust developed on the rocket is
(1) 12000N : (2 120N
(3) 800N (4) 200N
24. | If A is the wavelength of hydrogen atom from the transitionn=3ton=1,
then what is the wavelength of doubly ionized lithium ion for the same
transition :
o ¥ @
® % T @
'25. | The dimensions of pressure gradient are
1) ML2T2 (@) ML2T

@ M (4) MLAT®

BPH-EE-2013-Code—C . (5)
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uestion| >
No. Questions
26. | The electromagnetic damping experienced by a meta] mass movin

magnetic field is dye to
(1) Alternating current
(2) Eddy current

(3) Magnetic field

4) Alternating potential produced in metallic mass

27. | The value of current at resonance in a series LCR circuit is affected by
value of
(1) Ronly (2) Conly
(3) Lonly 4) L,CandR

28. | In which of the following regions of electromagnetic spectrum wil] {
vibrational motion of molecules give rise to absorption ?
(1) Ultraviolet (2) Microwave
(3) Infrared (4) Radio waves

29. | If the refracting angle of a prism is 60° and the minimum deviation 30
the angle of incidence will be
(1) 30° (2) 45°
(3 60° 4) 90°

30. The impurity concentration in a normal diode 1s equal to

(1) 1in10°Parts
3) 1lin103 parts

(2) 1in 108 parts
(4) 1in102 parts

BPH-EE-2013-Code-C
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Questions

35. .

O Hh- o BT T
©® Bldh . @ ﬁ-‘} '

No.
8L At what temperature is the r.m.s. veloc1ty of a hydrogen molecule equal to]|
that of an oxygen molecule at 47°C? '
(1) 80K ‘ s 2 —73K
@ 3K o B 20K
32. 1A mater1al has Poisson’s ratlo 0.5.1f a unlform rot of this .material suffers 2
S longltudmal stram of 2x 10 = what percentage ncrease in volume takes .
place? : : :
@ 2% e (2) 2.5%
B) W e Nt U gy o
g metalhc sphere cools from 50°C to 40°C in 300 sec. If the room
‘temperature 1s 20°C, then its temperature In next 5 minutes will be :
(1) 38°C X : i &) }33.3°C
(3): 30°C | - (@-36°C
34. PV d1agram of a diatomic gas isa stralght llne passmg through omgm The
| molar heat capac1ty of the gas in the process will be :
B4R - . ; (2 3R
@ R = - @ =B,
An elast1c string has a length l when tension in it is 5N Its length ish when

tensmn is 4N On subjectmg the string to a tens1on of 9N, its length W111 be|

© BPHEE-2013.Code-C (1)
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Part-B (Chemistry)

No Questions

36. | XeF, on complete hydrolysis gives :
(1) Xe (2) XeO,
(3) XeO, (4) XeO,

37. | When one mol CrCl,.6 H,O is treated with excess of AgNO,, 3 mol o
AgCl are obtained. The formula of the complex is :

(1) [CrCl (H,0)].3H,0 (2 [Cr(H,0)]Cl,
3 [CrCl, (H,0)]ClL2H,0 (4) [CrCl(H,0)] CLH,0

38. | Electronic configuration of a transition element X in + 3 oxidation state i:

[Ar] 3 d%, what is its atomic number ?

1) 25 2 26 @3) 27 M 24

39. | Ethylidene chlorideisa/an
(1) vic-dihalide (2) gem-dihalide
(3) allylichalide | (4) vinylic halide

40. | Phenolis less acidic than |
(1) ethanol (2} o-nitrophenol

(3) o-methyl phenol (4) o-methoxyphenol

41. | The colloidal solution of gelatin is known as

(1) Solvent loving (2) Reversible
{3) Hydrophi]jé (4) All of the above

BPH-EE-2013-Code-C (8)
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No. ‘ Questions
42. | Flux used in the metallurgy of iron is
(1) SiO, | @ CaCo,
(3) Felspar | (4) Flit
43. | Which of the following acids forms three series of Salts ?
1) H,PO, | @ H,BO,
@ HPOw (4) H,PO,
44, | Oxygen moiecules shows :
(€)) Diamagnetism i 2) Parainagnetism
| (3 Ferromagnetism | 4 Ferrirﬂagnetism
'45. | Identify the molecular formula of tear gas :
@ coc,, @ CCI,NO,
() CCi, CHO' | - 4) None of above
46 Which:of the fbllowing gases is not a green house gaé ?
| @ co AR O
| @ cH, 4) HOvapour
47. | The edge‘length of face centred unit cubic cell is 508 pm. The radius of the
| | atom will be |
(1) 179.6pm | @ 288pm
| @ 618pm | 4) 398pm
BPH-EE-2013-Code-C ~ (9)
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| s

The freezmg pomt of 1 molal NaCl solutlon assummg NaCl to be 1

vd1ssoc1ated in water is : (Kf 1 86 K Molahty")
; "(1) -1 86°C : LR (2) --—3 72°C
' '(3) L IBE (4) +372°C _

49,

| Whlle charglng the lead storage battery
(1) Pb SO anode is reduced to Pb

| _(25 -,Pb SO cathode is reduced to Pb
i " e | (3) ‘Pb SO, cathode is ox1d1zed to PbO
B v g (4) ; Pb SO 4 anode i is ox1d1zed to PbO,

1 5o.

1 *Wh1ch of the followmg isa un1t of zero order reactlon ‘7
| @ mol L"IS‘I L U e Lmol gt
‘(3) Lmol_S"l_ N '_(4) LmolS

- 51,

A gas occup1es B htres at STP It is pr0v1ded 300 J heat so that 1ts volu

‘_ 'becomes 2.5 htres at 1 atm Calculate change in 1ts 1nternal energy
o SOOJ - _' © 249 35J |

_,‘-'.(»3) 498'70J (4) 600J

52.

'What should be the solublhty product of AZZ (SO )

(1) 27S4' . (2) 7285 |
3 1085 R @ 10885 |

'BPH-EE-2013 Code-C o
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Questions

53.

Which of the following arrangements represent increasing oxidation number

of the central atom ?

(1) CIO;, CrO*, MnO;, CrO;
(2) CrO;, CIO;, MnOj;, Cro:;’~
3 CrO*, MnO;, Cr0;, CIO:

) Cr0;, ClO;, CrO*, MnO;

54.

In solid ice, oxygen atom is surrounded :

(1) tetrahedrally by 4 hydrogen atoms

(2) octahedrally by 2 oxygen and 4 hydrogen atoms

(3) tetrahedrally by 2 hydrogen and 2 oxygen atoms

4) 6ctahedra11y by 6 hydrogen atoms

55.

The paramagnetic speciesis :
s @ sio,

@ TO, . (4) BaO,

56.

The total numbers of protons in 10.0 g of CaCO, is

(1) 1.5057x10% (2) 2.0478x 10

(3) 3.0115x 10% (4) 4.0956 x 10%

BPH-EE-2013-Code-C (11)
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Q";S:_i"", Questions

57. Which of the following sets of quantum numbers are correct ?
§¢)) n=1,¢=1,m=+29
@ n=2 =9 m=y]
B) n=3, vy =2, m=-2

1@ n=38/r=4m=_»o

58. ‘! Among halogens the correct ordeI:' of electron gain enthalpy is : E
(1) F>Cl>Br>1 (2 F<CI<Br<I |
3 F<Cl<Br>1 @ F<Cl>Br>1

59. | The hybfid states of central atom in diborane, diamond and graphis
respectively : | |
(1) sp?, spé, sp? (2) sp? sp?, gp
(3)  sp? sp?, gps - (4@ sp, sp? sp?

60. | Which pau‘c‘ of the gaseous diffuse through a small Jet with same rg
diffusion at same XP and T ?
(1) NO, co - (2 No, CO,
(3 NH, PH, @ No, C,H,

61. | Cannizaro’s reaction is not given by :

CHO \ .

M ‘O<CH3 @ @—-CHO
(3) HCHO e (4) CH, CHO

BPH-EE-2013—Code_C _ (12)




,..‘ ’Quﬁf_ionl Questions
62. | Picric aéid is :
| (1) Trinitroaniline ~ (2) Trinitrotoluene
3) Volatﬂé Liquid ' 4) 2,4,6-— trinitropheﬁol
6. Which of the following acid is a Vitamin ?

(15 Aspaﬁic acid ( 7 (2) Ascorbic acid
3) Adiipic‘ aentlat o 4 Sécchari;: acid

64. | The commercial ha_me of polyaérylonitrile is |
(1) Daé‘ron : it ' 2) Orlqn ‘
@) PVC PR Bakeili'te’

65. | Equanilis:
(1) artificial sweetener @) 'tranquilizer
(3) anti histamiqe (4) antifertility drug

66. | A solid compound ‘X’ on heating gives CO, gas and é. residue. The residue
ﬁlixed with water forms Y. On péssing an excess of CO, through Y’ in
water, a clear solution Z' is obtained. On boiling ‘Z’ compound ‘X’ is reformed.
Thé compound X’ is
(1) Ca(HCO,), @) CaCO,
) Na; co, i @ K, CO,

~ BPH-EE-2013-Code-C (13)




|

Cox

Q“I%S:'i‘m! Questions
67. | The wrong statement about fullerene is »
(1) It has 5-membered Carbon ring
(2) It has 6-membered Carbon ring
(3) Ithas sp2 hybridization
(4) Ithas 5-membered rings more than 6-membered rings
68. | The chemical composition of cryolite mineral is
(1) A0, (2) A40,12H,0
(3) KArSi0, | (4) Na, A’F,
69. | CH,-CHC¢-CH, ~CH, has a chiral Ceﬁ_fre, which one of the fol
represents its R configuration ? |
C,H, C,H,;
oy H-—é—C‘H3 2) Cé’--(I'J--CH3
' & = }|1
CH, | C,H,
®) H-?— Ce etz () ‘qu--%:— Ce
‘(32H5 ; H
70. | Wurtz reaction is best used for making :
[¢); Unbranched alkanes (2) Symmetrical alkanes
3) Unsymmetrical alkanes (4) n-alkanes with odd number of c:
BPH-EE-2013-Code-C (14) i
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i'Code-C

No. Questions
xF Ty
71. | cos” —+3sin™ — =
o 4n
o) i 2 3
. 3 5n
® 5 @ %
72. | If w is one of the cube roots of unity, then
1 w w
w 1 w =
woowe ol |
@)y w55 @ w
@ 0 . P @1
10 0
73. |f A={0 1 0 |, thenA%=
X y -1 “
3 -A- A

- 74.

i mx+1 , x<7
Iff(x):{ E s

sinx+n, x>’/2

and f (x) is continuous at x = 7 2 , then

‘ ‘nn : on
? —+1 =N=—
L e RIS
3) n= m-;— ./ 4 m=1,n=0

-_»'BPH-EE—2013—Code-C e,
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75. | The maximum value of xy subject to x + y=12is
M 16 @ 18 @3 u 4) ‘36
76. | If y= \/sinx+\/sinx+\/sin'x,+ ------ o then %—
2 y—1 cos X
@) coS X ' (2) 2%
. cosx : - 2x-1
© 2y-1 | (1,1) cosx
77. | If the numbers between 1 to 65 and divisible by 4 are written in reve
4 order then which of the following numbers will be at lbth-place ?
L 24 S @ 28
@) 32 (4) 36
78. Each observatlon of a raw data whose varlance is ¢® is multiplied by
then the variance of the new data is
@ o | ® Kot
(3 Ko @ K+o*
79. | Three identical dice are rolled. The probability that the same number Wi
| appear on each of them is
. 1 g 1
(1) 36 (2 18
1: 1
(3) 1z 4) 6
BPH-EE-2013-Code-C (16)




Questions
80. | A speaks truth in 709 cases and B speaks truth In 80% cases. The
probability that they say the same thing while describing single event is
() 058 (2 0.62
@ o061 @ o7
| 81.‘.;_' . if IZI2 +1= [’Z2-1I, .t'hen z lies on
| @) »circl’e : (2) ellipse
(3) parabola ‘ (4) none pf these
- 82, | The inequaiities 3x— ¥23,4x-y>4have
(1) solution for all x
(2) solution for ally
3) solution for positive x and y
) ho soluﬁon for positive x and y
83. | Three dice are rolled. The nﬁmber of possible outcomes in which at least
one d_ie shows 3 ig
(1) 36 | @ 4
Kl TN o
- 84. If P = 126 ‘"Cr, then the valué of ris
™ 3 @4
@ Bt

BPH-EE-2013-Code_( (17)




Cod

IQuestionl
No.

Questions

85.

: e .
In the expansion of (xs - F) , the constant term is

W00, D T,
® 0 | @ %

86.

IfX={1,23},Y= {3; 4,7 ={4, 5, 6} then X U(YNZ)is
1) 4,5 ©@ {1,2,5,6 |

@) {1,234 | 4) {1,3,6} °

- 87.

Let A={(a b):a*+b* =1, a beR}.ThenAis
(1) symmetric (2) antisymmetric

(3) reflexive (4) transitive

88.

Iff(x)=2x*+K, f(2) =26 and f (4) = 138, fhen f(3)=
(1) 86 | , @ 382

(3) 56 | (4) 64

89.

If sin® +cos® =2 cos 0, then cos 6 —sin (-). = ;
(D —2 cos ®

@ 2 (cés 0 +sin6)

@) -V2sin6

@ V3 sino

BPH-EE-2013-Code-C ~ (18)
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N Questions
. + : g
90. | 1f an (X | Y) o a+b, et tan x .
~sin (x-y) a-b tany
T b a
a-b
3) - | (4) ab
91. | The value of jee& dxis
1) 4 - (2) 6¢° 3) 2¢€ (4) 3é?
92. | The area of the figure bounded by y = sin x, y = cos x in the first
quadrant is : :
® 2(V2+1) @ 2(v2-1)
® 2(v3-1) @ J2-1
| = : e et dy _ g s :
93. | The solution of the d1fferent1al equation y i x —1 satisfyingy (1) =11is|"
(1)'y2=vx2—2x+2 @) y?=x*-2x+1 |
@) y=x*=2x+2 4) y2=x2+2x+2
94. | If & and b are two unit vectors 1nchned atan angle 8 such that a + bisa
unit vector, then 0 is equal to
T 3n ; o B n
G SiEse e | e w g
95. | If a, B,y are the angles which a directed line makes with the positive
directions of the coordinate areas, then sin® « + sin® B+sin’y =
M o @ 2 @l @ B

- BPH-EE-2013-Code-C (19)
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No.

: Questions‘ |

96. | 1f L 2 >

(2)_ a,b,c arein AP,
1
b bi
4 a,b, care in G.P.

1
(3) .

(1) a2 b2 c®are in A.P.

1
P relnAP

a+ 1 arein AP, then
+c¢’ e+a’ a+b ’

| D @=9.
(® 39

97. : The nearest point on the hne 3x-4 ¥ =25 from the drigin is

point (4, 6) is
Iy ‘16 % |
3 361

98. | The area of the circle een_tred' at ( -

(1) 2:1 internally
3) 1:3 internally

2) 1:2 externally
4 3:1 externally

99. | The ratio in .which'xy-plane divides the Join of (1, 2, 3) and 4,2, 1)is

: :
100.. X > e (2X+Vax _x

o 2

1

@ 3

)

BPH-EE-2013-Code_C f




 Part-C Option—i) Biology)

_ - , Questxons
: 101 The protectlve covermg of brain i 1s el
(1) Pleura : ' (2) Menmges |
: (3) Perlcardmm _ (4) Per1tomum e
| 102. Fert1hzat1on of ova 1n human takes place in: :
Iy '(1) Uterus e ) Vagina o
: (3) : Fal.loplantube.l‘f L (4) Ovary -
103. Carbon monoxide po1son1ng is’ due to the formatlon of _
L '(1) Methane o T ) Carbonic ac1d
(3 Carboxy haemoglobm ' @) Oxy haemoglobm- ,
k- s 104 'Abnormal secondary growth is foundl
| (@ Cucurblta : (2 Dracaena
| (3) Tnt1cum (4) Sugarcane
” 105_

Wthl’l is the causatlve orgamsm of Typh01d 4
(1) Salmonella typhz :

(2) Mycobactenum typlu ;

(3) Plasmodzum falczparum

; (4) All of the above

e g 106.

( 1) T cell deﬁc1ency

1@ Enlargement of spleen
1) - Neutrophll excess :
‘(4) w. B.C. excess

.BPH-EE-2013-Code O
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Qule\rs;ion - Questions
107 : WhICh of the followmg is essential for blood clottlng 2.
' (1) Lymph L TR Ry Blood platelets
® R.B.C. (4)WBC
108. | The sahva helps in the d1gest10n of : v
(D) Starch BRSO S (2) _Proteins. ey
(3) TFibres S | (4 Fats
i) 109 - Goitre is caused by : | ik
(1) Ovéjr eating
) ‘ Deﬁ'ciency ef Iron |
3) Deﬁci‘en'cy of Iedine
“) .Deﬁciency"ef A% itamine
‘1'10. Testosterone is secreted by.: v ; 3
._’(1) Histocyte e © vSertoli'cel_lrs . i
3) Leydig cells i : o "‘(4)  Primary spex.'matocyte_"_
111, Gene therapy is : v ‘
X (1) Method to determine blood group
| @) Method to replace a defective gene W1th a healthy gene
(3) Method to determme evolutlon
| @) Al of the above
112. Hardy Welnberg laW na populatlon represents N
| (1) Allele frequency o {2 Heterozygote frequency
(3) Genotype frequeney v £ (4) Homozygote frequency ‘

BPH-EE-2013-Code-C~ @
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_ Questlons |
‘ 113 ek mother of blood group O has a group O child, the father could be of
o blood type i | s |
ek AorBorO (_2),AorB v
B Oenly T e e B
5 114. | Interspec1ﬁc hybrids proved very useful for
ERRE (1) Gene functmn sl e ‘_ (2) Gene mappmg | |
_(3) Gene structure o e S e (4) Genetic mampulation |
115. | Systematlcs deals W1th e
A _Classﬁicatlon of orgamsms -
" (2) : Identlﬁcatlon of organisms |
' (3) ' .The kmd and dlver81ty of all orgamsms and emstmg relatlonshlps
' among themselves PR :
‘ ' (4) None of the above v
116. ,Hydro_i)O‘nics:, is : | g
o (1) ‘vSoille'ss culture Kk Ehls 2) -Waterlles's culture
3) "Air leés cultur‘e | ‘ e (4) Nutrient less culture
117, | Bt crop grown by the farmers 1n India i 1s B :
1 Ma1ze ' esrosge . (2) Nheat
£3)- Cotton s s o (4)- amato
118. Age of tree can be estlmated by h s
i lay Helght and girth - (2) Biomass
(3) : Cork il i ey @ Number of Annual rings
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Question

No. Questlons ¥
: 119 In DNA, adenine normally palr with | g
| (1) Guamne : 2 5 by | (2) Cytosme T
3) Thymine : ’ .‘ (4) Uracil

: 120.' The genotyplc ratlo of monohybrid cross is
(1)::8:1° : a0 () 9 3:3: 1
51 W AN s e (4) o ks

12 1. Vmegar 1s obtained from mollasses W1th the help of
(1) Aspergzllus i i , (2) RhLzopus

3) _Acetobacter B iade (4) Pemczllzum

122, The amount of ATP requ1red for the synthes1s of one glucose molecu

C pathway is: ( B R e
M 18P e @ 204t
@Y SIBATE worass ok L @ s0atP

123. What are the natural reservmr of phosphorus ?

(1) Rock - R (2) Ammal bones

3 Sea'water = '. @ Plants : |
= g 12'4.' The troplcal forests in Ind1a. are located m . _
l a '. | @ Haryana e e {2 Hlmachal Pradesh

3) Jammu & Kashmlr ' (4) Andamans
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" [Question|

No. Questions |
: ‘ ; 125 ' Which of the follotv_ing is an eye disease ? |
- 1 @) Measles . i (2), Bronchitis' 1
3) 'Glaucoma e e | (4) Diabetes
126. Down syndrome is usually the result of an extra chromosome
@ 15 R A ey Y
3 19 (4) 21
127. | The two strands of DNA are joined by :
7 7(1) .Covalent Bond : . ~ (2) Tonic Bond v
(3) Hydrogen Bond » it (4) Phosphodlester Bond
. ‘128. Which i 1s the most pr1m1t1ve group of algae ? :
. -(1) Greenalgae ~ (2) Bluegreen algae. v-
(3) Red algae g 4) Brown algae
1"29.4 'Durmg cell cycle DNA synthes1s takes place in :
| (1) Prophase ! (2) S phase
3) G1 phase s (89 G2phase
13}0.>‘ : _Photosynthetm p1gments are located in the :
k- (1) Thylakoid membrane
(2) Inner membrane
3) Ou~ter membrane
(4) vThylako1d lumen |
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21 .= 1 31 41 51 61 71 81 91

11 - 4

4

22 - 2 32 42 52 62 72 82 92

12, = 3

3

28 ~ 1 33 43 53 63 73 83 93

13 - 4

1

24 - 3 34 44 54 64 74 84 94

14 - 3

3

25 =~ 2 35 45 55 65 75 85 95

15 = 2

4

16 - 3

36 46 56 66 76 86 96

26 —~ A

3

27 = i 37 47 57 . 67 77 87 97
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28 — 2 38 48 58 68 78 88 98

18 - 4

3

29 - 4 39 49 59 69 79 89 99

19 - 4

1
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